Aw:
$$-\frac{1+ab}{1+a} = \frac{1+\frac{1}{c}}{1+a} = \frac{c+1}{c(1+a)}$$

$$\frac{1+b^{\circ}}{1+b} = \frac{1+a}{a(1+b)} = \frac{1+ca}{1+c} = \frac{1+b}{b(1+c)}$$

$$\frac{1+ab}{1+c} = \frac{1+b}{a(1+b)}$$

$$\frac{1+ca}{1+c} = \frac{1+b}{b(1+c)}$$

$$\frac{1+ab}{1+c} = \frac{1+b}{b(1+c)} = 3$$

$$\frac{1+ab}{1+c} = \frac{1+b}{b(1+c)} = 3$$

Let us take two sequences
$$\mathcal{N}_1 \leq \mathcal{N}_2 \leq \cdots \leq \mathcal{N}_n$$
 and $\mathcal{N}_1 \leq \mathcal{N}_2 \leq \cdots \leq \mathcal{N}_n$ and one permutation (z_1, z_2, \cdots, z_n) of (y_1, y_2, \cdots, y_n) Prove that,
$$(x_1 - y_1)^2 + (x_2 - y_2)^2 + \cdots + (x_n - y_n)^2 \leq (x_1 - z_1)^2 + (x_2 - z_2)^2 + \cdots + (x_n - z_n)^2 \leq (x_1 - z_1)^2 + (x_2 - z_2)^2 + \cdots + (x_n - z_n)^2 \leq (x_1 - z_1)^2 + (x_2 - z_2)^2 + \cdots + (x_n - z_n)^2 \leq (x_1 - z_1)^2 + (x_2 - z_2)^2 + \cdots + (x_n - z_n)^2 \leq (x_1 - z_1)^2 + (x_2 - z_2)^2 + \cdots + (x_n - z_n)^2 \leq (x_1 - z_1)^2 + (x_2 - z_2)^2 + \cdots + (x_n - z_n)^2 \leq (x_1 - z_1)^2 + (x_2 - z_2)^2 + \cdots + (x_n - z_n)^2 \leq (x_1 - z_1)^2 + (x_2 - z_2)^2 + \cdots + (x_n - z_n)^2 \leq (x_1 - z_1)^2 + (x_2 - z_2)^2 + \cdots + (x_n - z_n)^2 \leq (x_1 - z_1)^2 + (x_1 - z_2)^2 + \cdots + (x_n - z_n)^2 \leq (x_1 - z_1)^2 + (x_1 - z_2)^2 + \cdots + (x_n - z_n)^2 \leq (x_1 - z_1)^2 + (x_1 - z_2)^2 + \cdots + (x_n - z_n)^2 \leq (x_1 - z_1)^2 + (x_1 - z_1)^2 + \cdots + (x_n - z_n)^2 \leq (x_1 - z_1)^2 + \cdots + (x_n - z_n)^2 \leq (x_1 - z_1)^2 + \cdots + (x_n - z_n)^2 \leq (x_1 - z_1)^2 + \cdots + (x_n - z_n)^2 \leq (x_1 - z_1)^2 + \cdots + (x_n - z_n)^2 \leq (x_1 - z_1)^2 + \cdots + (x_n - z_n)^2 \leq (x_1 - z_1)^2 + \cdots + (x_n - z_n)^2 \leq (x_1 - z_1)^2 + \cdots + (x_n - z_n)^2 \leq (x_1 - z_1)^2 + \cdots + (x_n - z_n)^2 \leq (x_1 - z_1)^2 + \cdots + (x_n - z_n)^2 + \cdots + (x_n - z_n)^2 \leq (x_n - z_n)^2 + \cdots + (x_n - z_n)^2 \leq (x_n - z_n)^2 + \cdots + (x_n - z_n)^2 \leq (x_n - z_n)^2 + \cdots + (x_n - z_n)^2 \leq (x_n - z_n)^2 + \cdots + (x_n - z_n)^2 \leq (x_n - z_n)^2 + \cdots + (x_n - z_n)^2 + \cdots + (x_n - z_n)^2 \leq (x_n - z_n)^2 + \cdots + (x_n - z_n)^2 \leq (x_n - z_n)^2 + \cdots + (x_n - z_n)^2 \leq (x_n - z_n)^2 + \cdots + (x_n - z_n)^2 \leq (x_n - z_n)^2 + \cdots + (x_n - z_n)^2 \leq (x_n - z_n)^2 + \cdots + (x_n - z_n)^2 + \cdots +$$

$$A_{no}: - S_{1} - S_{2} = \sum_{i=1}^{N} (x_{i} - y_{i})^{2} - \sum_{i=1}^{N} (x_{i} - z_{i})^{2}$$

$$= \sum_{i=1}^{N} (x_{i} - y_{i})^{2} + \sum_{i=1}^{N} (x_{i} + y_{i})^{2} - \sum_{i=1}^{N} (x_{i} + y_{i})^{2}$$

$$= \sum_{i=1}^{N} (y_{i}^{2} - y_{i})^{2} + \sum_{i=1}^{N} (x_{i} + y_{i})^{2} - \sum_{i=1}^{N} (x_{i} + y_{i})^{2}$$

$$= \sum_{i=1}^{N} (y_{i}^{2} - y_{i})^{2} + \sum_{i=1}^{N} (x_{i} + y_{i})^{2} + \sum_{i=1}^{N} (x_{i} + y_{i})^{2}$$

$$= \sum_{i=1}^{N} (y_{i}^{2} - y_{i})^{2} + \sum_{i=1}^{N} (x_{i} + y_{i})^{2} + \sum_{i=1}^{N} (x_{i} + y_{i})^{2}$$

$$= \sum_{i=1}^{N} (y_{i}^{2} - y_{i})^{2} + \sum_{i=1}^{N} (x_{i} + y_{i})^{2} + \sum_{i=1}^{N} (x_{i} + y_{i})^{2} + \sum_{i=1}^{N} (x_{i} + y_{i})^{2}$$

$$= \sum_{i=1}^{N} (y_{i}^{2} - y_{i})^{2} + \sum_{i=1}^{N} (x_{i} + y_{i})^{2} + \sum_{i=1}^{N} (x$$

By rear argument inequality
$$\Sigma niti \langle \Sigma niti \rangle \Rightarrow B \langle O \rangle$$

 $\Rightarrow S_1 - S_2 \langle O \rangle$
 $\Rightarrow S_1 \langle S_2 \rangle$

By Let
$$M_1, M_2, \dots, M_N$$
 be distinct positive integral, then prove that

$$\frac{M_1}{12} + \frac{M_2}{2^2} + \dots + \frac{M_N}{N^2} > \frac{1}{1} + \frac{1}{2} + \frac{1}{3} + \dots + \frac{1}{N}$$

Ali: $1 \le 2 \le \dots \le N$ $\Rightarrow \frac{1}{N} \le \frac{1}{N} \le \dots \le \frac{1}{N}$ $\Rightarrow \frac{1}{N} \le \frac{1}{N} \le \frac{1}{N} \le \frac{1}{N}$ $\Rightarrow \frac{1}{N} \le \frac{1}{N} \le \frac{1}{N}$ $\Rightarrow \frac{1}{N} \le \frac{1}{N} \le \frac{1}{N}$ $\Rightarrow \frac{1}{N} \le \frac{1}{N} = \frac{1}{N} = \frac{1}{N} = \frac{1}{N} + \frac{1}{N} + \dots + \frac{1}{N} = \frac{1}{N} = \frac{1}{N} + \frac{1}{N} + \dots + \frac{1}{N} = \frac{1}{N} = \frac{1}{N} + \frac{1}{N} + \dots + \frac{1}{N} = \frac{1}{N} = \frac{1}{N} + \frac{1}{N} + \dots + \frac{1}{N} = \frac{1}{N} = \frac{1}{N} + \frac{1}{N} + \dots + \frac{1}{N} = \frac{1}{N} + \frac{1}{N} + \dots + \frac{1}{N} = \frac{1}{N} + \frac{1}{N} + \dots + \frac{1}{N} = \frac{$

B> Suppose a,b,c be the lengths of the sides of a triongle Prove that $a^2(b+c-a)+b^2(a+c-b)+c^2(a+b-c) \leq 3abc$ $C \leq b \leq 0$ a/b+c-a $\leq b(a+c-b) \leq c(a+b-c)$ -= 90. L : 1.00 1 mlster Inequality Page 2

N-3+1= N-2 --

By reorganist inequality:-
$$a^{2}(b+c-a) + b^{2}(a+c-b) + c^{2}(a+b-c) \leq ba(b+c-a) + cb(c+a-b) + ac(a+b-c) + ac(a+b-c) + ac(a+b-c)$$

$$S \leq c\alpha(b+c-a) + \alpha b(c+a-b) + bc(a+b-c)$$

$$0000$$

$$25 \le 6 \text{ ab c}$$

$$\Rightarrow 5 \le 3 \text{ or b c}$$